AOO/NIDH

CASSETTE-RECEIVER

KRC-140
INSTRUCTION MANUAL

KENWOOD CORPORATION

Take the time to read through this instruction manual.
Familiarity with installation and operation procedures will help
you obtain the best performance from your new cassette-
receiver.

For your records
Record the serial number, found on the back of the unit, in
the spaces designated on the warranty card, and in the
space provided below. Refer to the model and serial
numbers whenever you call upon your KENWOOD dealer for
information or service on the product.

Model KRC-140  Serial number

© PRINTED IN JAPAN B64 - 0181 - 00 (K} (+)
93/12 11 10987 654321 921211 109876543




SAFETY PRECAUTIONS

LAWARNING]

Observe the following instructions to
prevent fires and personal injury.

When the Power supply lead, Memory
backup lead or Ground lead are
extended, use a 0.75mm? (AWG 18)
or larger automotive grade cable
which will withstand friction and heat
to safe guard against fires occurring
as a result of short-circuiting.

Make sure that metal objects,
particularly needles or coins do not
get into the unit to prevent short-
circuiting and fires.

If smoke comes out of the unit or a
strange smellf is present, disconnect
the unit immediately and consult your
KENWOOD dealer. Continued use
under these circumstances could
cause a fire, as well as damage the
unit permanently.

[AACAUTION|

Heed the following instruction to

keep the unit in proper working order.

The unit should be connected to a 12
V DC power supply with a minus
ground connection.

Do not open enclosures, such as the
front panel, top or bottom covers.

Do not place the unit, where it will be
exposed to direct sunlight or near
heating device.

Do not expose the unit to water.
Do not place the unit in areas of

excessive dust, high humidity or on
unstable surfaces.

NOTE

» If you have difficultly in installing the
set in your car, please contact your
KENWOOD dealer.

Notes on handling tape

+ Before loading a cassetlte, check the
tape for slack. If there is slack tape,
remove it using a pencil to turn one of
the spools in the cassette shell.
Playing a slack tape in the deck can
cause the tape to become wound
around the pinch roiler. This is just
one of many problems that can result.

* Do not expose a cassetie tape to
direct sunlight. Leaving a cassette
tape in a place where the
temperature and humidity are high
can deform the cassette shell and the
tape itself. Do not use such tapes in -
your unit as it may not be possible to
eject them.

e A120-minute tape is very thin and its
use should be avoided as it can
easily become twisted around the
pinch roller.

FCC WARNING

This equipment may generate or use
radio frequency energy. Changes or
modifications to this equipment may
cause harmful interference unless the
modifications are expressly approved in
the instruction manual. The user could
lose the authority to operate this
equipment if an unauthorized change or
modification is made.




CARE AND MAINTENANCE

Cleaning

1. Turn the power OFF, before cleaning
the unit.

2. Wipe the front panel and other
exterior surfaces of the unit with a soft
dry cloth or a soft cloth lightly
moistened with a neutral detergent.

ACAUTION

¢ Do not use abrasive pads, thinner
or benzene (or other volatile
sclvents) to clean the unit as this
may remove indicator characters.

Head cleaning

Magnetic particles from the tape adhere
to the head surface after a long period
of use, resulting in noise and pcor
quality sound. Clean the head with a
cleaning tape available at your
KENWOOD dealer, following the
direction in the head cleaner:




TABLE OF CONTENTS

_ Page
W POWER, VOLUME AND TONE .....ccciiiiiieei e 5
[Tuner features]
BSEEK TUNING ... e 6
B MANUAL TUNING ..o eerin e 7
W PRESET STATION TUNING.............. BTSRRI 8
[Tape deck feature]
B TAPE PLAYBAGCK ..ottt csss s sss s s en e nns 9
[Other features]
B CLOCK INDICATION AND ADJUSTMENT .....ccooviiiieeviiecirn 10
B CHANNEL SPACE SELECTION .....ooviiiiiieiiie et 11
[Installation]
W ACCESSORIES ...t 12
W PROCEDURE ..ot SUTUTRURRN 13
B CONNECTIONS ... .ot ee e e 14
B INSTALLATION .o e e 15
B TROUBLESHOOTING GUIDE ...t 17
B SPECIFICATIONS ..., 18
4




POWER, VOLUME AND TONE
"

i Rear
Volume Increas § Right Fader control
ij OFF Left Balance
Volume Decrease &0 . Control (Pull) Front

B v=A]
0.0k

2765 45 566

(namooomugﬂl

TREBLE
CONTROL

When listening at low volume
levels, tapping this switch
Decrease will activate the loudness

R circuit which will
compensate for the human
ear's lack of sensitivity to
Increase bass at low levels.

Increase

LI

NOTE

* When turning the Power switch ON, operation begins from the Tuner mode.
* Perform the following operations with the power ON,

o




SEEK TUNING

Select the desired Band.
(The band changes to FM1, FM2 and
AM as you press each time.)

= 321 ga! |
M1 FM2

e 530

AM

Turn the Auto switch ON.

(Each time the Auto switch is kept
pressed for more than 2 seconds,
the Auto mode changes between
ON and OFF.)

-V

ON

7

Press the Seek switch.
(Seek starts and receives a
broadcast station.)

Down seek Up seek

‘ & q

Indicates reception Lit when FM stereo
frequency. broadcast is received.

6 Tuner features




MANUAL TUNING

Select the desired Band. Turn the Auto switch OFF.
(The band changes to FM1, FM2 and (Each time the Auto switch is kept
AM as you press each time.) pressed for more than 2 seconds,

the Auto mode changes between

=32 |e§2i | “ ON and OFF:)
""" FM1
553 —3er |

T - OFF

Press to select the desired Indicates the frequency being
frequency. received.

y=a | ["9

Indicates reception
For lower For higher frequency.
frequencies  frequencies

(Continued pressing will change it

continuously)

-]

“Lit when FM
stereo broadcast
is received.

Tuner features 7




PRESET STATION TUNING

Press the Preset station switch you
wish to be kept preset for more
than 2 seconds.

(When it is pressed, the number of .
switch pressed will be indicated.)

’“fgélf gﬁ

Select the band and station you
wish to preset.

@ @ {“ ) (KENWOOD .

= b

STERLO

)| [E2re 23

By repeating operation of 1-2
above, one station can be
memorized in one switch each at
FM1, FM2 and AM.

If tapped, the preset station can
be called out.

(The number of switch pressed will
be indicated.)

NOTE

* [f preset is to be made anew on the switch already preset, what was preset before
will be replaced with what is to be preset. .

8 Tunrer features

— . . - [ P

- M




TAPE PLAYBACK

FAST FORWARD/REWIND

 TAPE PLAYBACK
Insert a casseite tape with the

at facing fo the right Operation Press
exposed tape facing to ight.
(Playback starts.) Fathefvc‘),ir;v:rd RFETN

5 =
1 TAHPE } To release, softly press the reverse
(Durinap_layback. > switch.
will be indicated.)

PROGRAM

STOP PLAYBACK

When you wish to listen to the
reverse side, press these at the
same time.

(The reverse side will be played
back.)

Press the Eject switch.
(The cassetie tape will come out.)

<Playback side>
When inserted with the side A up.

Indicator Playback side
> Side A
<] Side B
This will be reversed when inserted with
the side B up.

Tape deck feature 8




CLOCK INDICATION AND ADJUSTMENT

M Clock indication

Every time you press Clock
swiich, the following
indication will appear.

lm,' 533 Mode Indications
__} Tuner Received frequency <=> Time
Clock indication Tape “TAPE" display <= Time

y=A)

9

Jololo;

H Clock Adjustment

Make it clock indication and then Continue conducting the operation

continue to press the Clock switch. of 1, then pressing A and V that
allows “Hour” and “Minute” to be
adjusted respectively.

VamA

"Hour™  “Minute”

1D Other features




CHANNEL SPACE SELECTION

H The KRC-140 has a channel space select function.
Two spacing frequencies are available for both FM and AM, 200kHz or 50kHz for

FM., and 10kHz or SkHz for AM.

Turn the power OFF,

Keep on pressing the Preset
station switch of "1" and “5".

)| E2E

Lé%ﬁnwmnx@.wggm%nmA‘

&6

Turn ON the power while engaged
in the operation of 2.

(Channel space will turn to 50kHz
for FM and 9kHz for AM.)

To bring it back to the home
paosition, carry out operations of 1-
3 again.

(Channel space returns to 200kHz
for FM and 10kHz for AM.)

NOTE

* When the channel space is changed, the memorized contents are erased.
¢ The channel space selection is not used in the United States or Canada.

Other features 11




ACCESSORIES

Number

Part name External View .
of units

Mounting sleeve

Power connection cord

Metal mounting strap

Hex. bolt (M5 X 20) .

Machine screw (M5 X 6)

TP screw (M4 X 6) @m 1

Hex. nut (M5) Q; 2

Removal bracket 1

12 installation

"—— CLOCK INDICATION AND ADJU—_STMENT



PROCEDURE

@ Before installation and wiring, remove the © terminal of the battery to prevent short-
gircuiting. :

@ Connect the input and output cords of the system. (==P.14)

® Connect the Ground lead (Black) to the metal chassis of the car. (==P.14)

@ Connect the Memory backup lead (Yellow). (=P.14)

® Connect the Power supply lead (Red). (r=P.14)

® Install the unit in the car. (&P, 15) .

@ Connect the negative © terminal of the disconnected battery.

LACAUTION|

¢ A short-circuit may be the cause of a blown fuse. A short-circuit is a serious
problem that can lead to a fire. Check the wiring and rewire if any wires are short-
circuited. After this (or if no short-circuits are found), replace the fuse with one
having the same capacity (see indication in fuse box).

* Make sure that unconnected wires and connectors are not in contact with the live
chassis (ground) of the car to prevent noise and current from entering the system
which can cause._it.to malfunction cr damage the unit. For the same reason, caps
on connectors that are not used should not be removed.

* This product is equipped with a BTL (Balanced Transformer Less) system to
provide more power. In a BTL system, different speaker terminals must not be
connected or shared as this will cause distortion or damage to the speakers. The
output terminals of two or more speakers must under no circumstances be joined or
connecied to the chassis (ground) of the car.

Installation 13

. ) | o ot




CONNECTIONS

| —

* The circled numbers in the drawing are the
“PROCEDURE” numbers listed in page 13.

@=&EF—— From AM/FMantenna
/AM/FM anten}na input AW ARNING

4 — @ To prevent fires from occurring when the
Power supply lead (Red) and Memory
- Backup lead (Yellow) @re short-circuited by
KRC-140 =N . accidentally coming info contact with the
Power connection cord chassis (ground), connect the power
supply after fuse box connections have
been made.

Ignition key
switch

5 .
i “ Ok ACCE ~ o]

Power supply lead
(Red) @ (To ignition)

0 .
L o e
Memory backup lead Car fuse box Car fuse box

(Yellow) @ (To battery) l: (Main fuse)
Ground lead {Biack) @ (To car chassis)

Battery
Power control supply lead (Blue/White)

(Full automatic Power antenna control lead)
IPOWERNNT ,7

(White)
@)
r_——‘:> @@ Front left speaker
(Green)
==\——:> @® I Rear left speaker

0% (Black)

o
gag“l

ke
AN

OV
R

(Gray) ':D
@® Front right speaker

(Violet)

= -} @® Rear right speaker
(Black) _’ 20

14 Installation




INSTALLATION

Firewall or meta! support @ Insert the unit into the sleeve unit until it
locks securely.

Hex. nut (M5)
(Accessory)
TP screw
(M4 X 6)
(Accessory)

@ Install the sleeve to the chassis
with lugs. Bend the lugs using a
screwdriver,

Metal mounting strap Mounting sleeve
(Accessory) (Accessory)

Hex. bolt (M5 X 20)
(Accessory)

W Toinstall in the Japanese car, fit using two of the holes indicated with @ with
Machine screw (M5 X 6) (Accessory).

] KRC-140

N

Installation holes for Japanese-made cars.

Instaliation 15

L. R ¥148 i




INSTALLATION

H How to remove the KRC-140

TP screw (M4 X 6)
(Accessory)

1. Remove the TP screw (M4 X 6)
retaining the back panel of the
KRC-140.

Then, insert removal bracket into
the hole,

Removal bracket
(Accessory)

2. Pull out the removal bracket by
hooking the fingers simuita-
neously.

 wr
3. Torelease the removal bracket, (-) Serewdriver
use a screwdriver to press down
the release tabs on the side of the
chassis and pull the removal
brackets.
Release tabs %
v —

16 Installation




TROUBLESHOOTING GUIDE

What often appears to be a malfunction is often due to user error in operation or
connection. When trouble occurs with your unit, please check the following before

calling for service.

Symptom

Cause

Remedy

No sound one channel.

The balance/fader centrol is
extremely rotated to one side.

Adjust the balanceffader control.

Poor reception.

The antenna is not exiended.

Extend the antenna.

Tonal quality is inferior.

Tape creaks.

Head is stained.

Carry out head cleaning.




SPECIFICATIONS

Specifications subject to change without notice.

FM Tuner Section

Frequency Range (200 KHzZ SPACE) .........ovvvveeiniriiennricinne e 87.9 MHz - 107.9 MHz
(B0 kHZ SPACE) ..veveevve i 87.5 MHz - 108.0 MHz

USADBIE SENSILIVITY .o.vivieieeeeri v 12,0 dBf (1.1 uV/75 ohms)

50dB Quieting SenSItiVIt ........ccerii e 1.2 dBF (1.6 pV/75 ohms)

Frequency RESPONSE .......ccccviiiirnicei e 30 Hz - 15 kHz (£3 dB)

Signal-to-NOISE BALO wvevvivieeriirie et nsnres st s oanes (3 OB

SEICCHVILY 1ivrireeee e e e

Capture Ratio ..o e e

Image Response Ratio ...

[F RESPONSE RALIC ..vvvveiieir i evrirre et e

Stereo Separation (1 KHZ) ....ovcviiier e sae s e eee e
AM Tuner Section

Frequency Range (10 KHz space) .........ocovcvvinniinecniicec e 530 kHz - 1700 kHz
(9 KHZ SPACE) . vvevve e vrrrrecrrnie s reenseernneenn D31 KHZ — 1611 kHZ

Usable SeNSItIVITY tiuuveriiriiveiiciiciii i 28 dB (30 uv)

Cassette Desk Section

TAPE SPEEU ..cveerrreirieerrreerrenrereartressererresee e eeeseesaeee s menasesata s ne st s eeansnessranas 4.76 cm/sec,

WOW & FIUEET crevisi et e ... 0.12% (WRMS)

Fast Winding Time (C-60) 100 sec.
Frequency RESPONSE ...cvvcvivirieecrrrcire e e 30 Hz - 14 kHz (£3 dB)
Stereo Separation (1 KHZ) ..o e 43 dB
Signal to NOISE RALIO ..vivmseeriiiiiirii e s 54 dB
Audio Section
Maximum QUERUL POWET ......oooiciiriiriiein it 25 Wx2 or 15 Wx4
Output Power (10%THD, 1 kHz, 4 0hMS) oocooiiviieicinriic e 20 Wx2
(1%THD, 30 Hz = 20 kHz, 4 0hmMS) ccov oo 15 Wx2
TONE ACHON L.ttt e e e Bass : 100 Hz £10 dB
Treble : 10 kHz £10 dB
General
Operating VOIBGE ..oovceevviieerr v ceeecevre s s 14.4V (11-16 V allowable)
Current ConSUMPION .....vvviii e e ree s 6.0 A at Rated Power
Installation Size (WXHXDY) .....coooviiriviiiiiiiiinie e seecesee e sereras 180x50x154 mm .
(7-1/16x1-15/16%x6-1/16 in.)
WEBIGNE oo ies e sae e este e st s ee e eeen 3.31b (1.5 kg)
18




AMPLI-TUNER-LECTEUR DE CASSETTE

KRC-140

MODE D'EMPLOI

KENWOOD CORPORATION

IMPRIME AU JAPCN B64-0181-00 (K)
931211 109287654321 92/1211 109876543

AOOMNNI

-




PRECAUTIONS D'EMPLOI

[AAVERTISSEMENT]| [REMARQUE]

Il convient de respecter les ¢ Pour tous les problémes d'installation

instructions suivantes afin de
prévenir tous risques d'accident ou
d'incendie.

¢ Un cordon de section supérieure ou

de votre récepteur radio/cassetie,
faites appel & voire revendeur
KENWOOD.

égale 4 0,75 mm? (AWG 18) et d'une
résistance & la chaleur au moins
égale a celle des cébles standard

Conseils concernant

I'utilisation des cassettes
* Avant d'introduire une cassette dans

pour automobile doit &tre utilisé pour
rallonger les cordons d'alimentation,
de sauvegarde de la mémoire ou de
mise & la masse. Ceci permettra
d'éviter tous risques d'incendie d a
un éventuel court-circuit.

« Ne jamais introduire d'objets
métalliques dans ['appareil au risque
de provoguer un court-circuit.

e Lorsque de la fumée ou une cdeur
anormale émane de I'appareil,
couper immédiatement I'alimentation
et s’adresser au revendeur
KENWOOQOD le plus proche.

[APRECAUTION|

Les instructions ci-dessous doivent
étre respectées afin d'éviter de
détériorer I'appareil.

e Cet appareil doit étre alimenté en 12
volts avec une masse négative.

¢ Ne jamais cuvrir le boftier de
I'appareil, que ce soit au niveau de la
face avant, de son couvercle
supérieur ou de son couvercle
inférieur.

* Evitez d'exposer |'appareil aux
rayons directs du soleil et de le
placer a proximité des orifices de
chauffage.

¢ N'éclaboussez pas 'appareil.

* Ne placez pas I'appareil dans des
endroits trés poussiéreux ou trés
humides, ni sur des surfaces
instables.

I'appareil, vérifier que la bande n’est

pas détendue. Si c’est le cas, la

retendre en tournant l'une des
bobines du bottier de ia cassette &
I'aide d’'un crayon. Autrement, la
bande peut s'entortiller autour du
galet presseur,

Pour éviter la déformation du boitier
de bande, ne pas exposer les
cassettes aux rayons du soleil. Les
températures extrémes, de méme
que I'humidité, peuvent déformer le
bottier et/ou endommager la bande
elle-méme. En cas d'utilisation d'une
bande dont le baltier est déformé, il
ne pourra pas étre correctement
éjecteé. .

Les casseties de 120 minutes ont un
ruban trés mince. Il est recommandé
d’éviter leur emploi car la bande a
tendance a s'enrouler autour du
cabestan.




PRECAUTIONS ET ENTRETIEN

Nettoyage

1. Avant de nettoyer I'appareil, mettez-le
hors tension.

2. Nettoyez le panneau avant et les
surfaces exiérieures de l'appareil a
I'aide d'un linge doux et sec ou d’un
linge doux légérement imbibé de
détergent neutre.

[APRECAUTION|

¢ Eviter d'utiliser un tampon abrasif ou
une solution volatile, comme par
exemple du diluant ou de la benzine.

Nettoyage

Des particules magnétiques provenant de
la bande adhérent a la surface de la téte
aprés une utilisation prolongée de
I'appareil ce qui engendre des parasites et
détériore la qualité du son. Nettoyer la téte
2 l'aide d'une bande de nettoyage que
vous trouverez chez votre concessionnaire
KENWOOD. Suivez les instructions
dennées avec la bande.

LB



TABLE DES MATIERES

Page
W VOLUME, TONALITE ET LOUDNESS ..ot 5
[Caractéristiques de la section tuner]
M SYNTONISATION AUTOMATIQUE ...ooveeiiiiece e, 6
B SYNTONISATION MANUELLE ..o 7
B MEMORISATION MANUELLE ...l e 8
[Caractéristique de la section platine cassette]
M LECTURE DE LABANDE .....oiiiiiiiiiiiirtiieieriirrvreee e 9
[Caractéristiques pratiques]
W AFFICHAGE ET REGLAGE DE L'HORLOGE ........ccocoiiiiiiiiineen, 10
W SELECTION DE L'ESPACEMENT DES.CANAUX ..., 1
[Installation]
W ACCESSOIRES .o eeie et 12
WM PROCEDURE ......oi et 13
B RACCORDEMENTS ..oei ettt e re e ee et e rv e e 14
B INSTALLATION Lottt s s s s 15
B GUIDE DE DEPISTAGE DES ANOMALIES ....oovviieeiiiieireeee 17
B SPECIFICATIONS ..o e eaaas 18
4

__________ o -



VOLUME, TONALITE ET LOUDNESS

VOLUME ET LOUDNESS
Augmentation . Arrigre
du volume Droit Réglage de
@ l'atténuateur
Arrét
Diminution :45 Gauch Contrdle
du volume  Allumé He®  palance (tirer) Avant
4 A

s
51 J AAOICIO]
=L ¢ @OE

BOUTON GRAVE BOUTON AIGU
' Le loudness est activé et

Réduction Réduction désactivé en appuyant sur
ce commutateur. Ceite
fonction permet de
compenser le manque de .
sensibilité de I'oreille
Augmentation Augmentation humaine & faible volume.
[s-r1a]

= gai_

Allumé

[REMARQUE]

* Aumoment de sa mise sous tension, I'appareil passe d'abord en mode de
syntoniseur.
* Metire I'appareil sous tension avant d'effectuer les opérations suivantes.




SYNTONISATION AUTOMATIQUE

Sélectionnez la gamme de votre Appuyer sur ce commutaieur

choix. pendant plus de deux secondes

(La gamme change en FM1, FM2 pour enclencher le mode de

et AM & chaque pression sur la syntonisation automatique.

touche.) (Une nouvelle pression de plus de
o deux secondes sur ce bouton
l g2 } a2 } annulera ceite commande.)
TOUTTRMT T FM2 )
I R
534 T T Allumé

: i .
( N

3

Appuyez sur la touche de recherche.

station gu'ii rencontre.)

Recherche Recherche

descendante ascendante est affichée.

(L'appareil passe en mode de recherche automatique et s'arréte sur la premiére

L [ Allume quand
” [ cgme { smma | yne émission
" La'fréquence capiee .Stéréo est recue.

8 Caractéristiques de la section tuner

a

4%




SYNTONISATION MANUELLE

Sélectionnez la gamme de votre
choix.

{La gamme change en FM1, FM2
et AM a chague pression sur la

touche.)
= gai SEEL
1_5__3__’3 ]

AM

]
-

H

Placez le commutateur de mode
automatique en position d’arrét.

T3l |

Arrét

Sélectionnez la fréquence de votre
choix en appuyant sur la touche.

VoA

Pour passer &

une fréquence  une fréquence

inférieure supérleure
(Maintenez la touche enfoncée pour faire
défiler les fréquences.)

Pour passer &

Indique la fréquence captée.

92

La fréquence
captiée est
affichée,

Allumé quand une
émission stéréo est
regue.

Caractéristiques de la section tuner 7




MEMORISATION MANUELLE

Appuyez pendant 2 secondes sur
la touche de présélection a
laguelle vous souhaitez affecter la
station que vous avez choisie.
(Deés que la station a été .
présélectionnée, le numeéro de la
touche de présélection apparait
sur l'affichage.)

[E“BE;.'@

Choisissez la gamme et la station
que vous souhaitez mémoriser.

I ——vrrezer sratorE—— 1

=D} 0010}

BTAPE =3

_______ ——rna

En recommengant la procédure . .
décrite aux points 1 et 2 ci-dessus,

vous pouvez présélectionner une
station FM1, FM2, et AM.

La simple poussée de la touche de
présélection permet ensuite
'écoute de la station
correspondante.

(Le numéro de la présélection
apparaft sur l'affichage.)

=927

REMARQUE

* Sivous affectez une nouvelle station & une touche de présélection, la station
précédemment altribuée & celle-ci est automatiquement effacée.

8 Caractéristiques de la section tuner




LECTURE DE LA BANDE

LECTURE DE LA BANDE

Insérer une casselte avec la
bande tournée vers la droite.
(La lecture commence.)

TRPE ~

(Pendant Ia lecture, le
témoin > apparait
sur 'affichage.)

BOBINAGE/REMBOBINAGE

Fonction Touche
Bobinage FF
Rembobinage REW

Pour libérer les touches, appuyez
légérement sur la touche
d'inversion.

ARRET DE LA LECTURE

Appuyez sur la touche d'éjecticn.
(La cassette est éjectée hors de
I'appareil.)

Quand vous désirez écouter l'autre
face de la bande, appuyez sur la
touche d'inversion.

(Vous passez alors en mode de
lecture de !'autre face.)

<Face lue>
Quand la cassette est insérée dans
I'appareil, face A vers le haut.

Témoin Face [ue
> Face A
<] Face B

Cet ordre est inversé lorsque la cassette
est insérée face B vers le haut.

Caractéristiques de la section tuner 9

|

< g

-_‘.ﬁ
sl



AFFICHAGE ET REGLAGE DE L'HORLOGE

Bl Affichage de I’horloge

Chaque appui successif de
la touche horloge
commande l'affichage des

indications suivantes:
1 -2 N
[ ¥ L X

Affichage de I'horloge

Mode

Indication

Mode syntoniseur |Fréquence captée <> tHorloge

Mode lecteur

“TAPE" <=> Horloge

) [v=a)

B9 C 7@“”

e T B it

m)@@"@

B Réglage de I'horloge

Faites appareiire I'horloge et
continuez & appuyer sur la
touche horloge.

10 Caractéristiques pratiques

Tout en continuant 'opération 1,
pressez V pour régler “HEURE", et
pressez A pour régler “MINUTE".

"Heure" “Minute”

[

e



SELECTION DE ’ESPACEMENT DES CANAUX

B Le KRC-140 posséde une fonction de sélection d’espacement des canaux.
Deux fréquences d'espacement sont disponibles pour FM et AM: 200 kHz ou 50
kHz pour FM et 10 kHz ou 9 kHz pour AM.

Couper l'alimentation. Maintenir le commutateur de
station présélectionnée de “1" et
"5" enfoncé.
.Cﬁam)@awwmm.lmég

—rest fr

&@@

. v,
Mettre sous tension pendant Pour ramener & la position
I'opération de 2. . d'origine, effectuer de nouveau les
(L'espace de canal sera changé opérations 1-3.
en 50 kHz pour les gammes FM et (L'espace de canal retourne a 200
en 9 kHz pour la gamme AM.) kHz pour les gammes FM et 10
kHz pour la gamme AM.)

|REMARQUE |

¢ Quand I'espacement des canaux est changé je contenu mémorisé est effacé.
* [a sélection d'espacement des canaux n'est pas utilisée aux Etats-Unis ou au
Canada. . . .

Caractéristiques pratiques 11




ACCESSOIRES

Nom de la piéce Vue extérieure Quantité
Manchon de montage 1
Cable de connexion d'alimentation 1
Plaguette de montage 1
Boulon & téte & six pans (M5 X 20) . @m 1
Vis de machine (M5 X 6) @m)) 4
Vis TP (M4 X 6) @jm 1
Ecrou & téte a six pans (M5) 2

Collier de retrait

12 installation




PROCEDURE

@ Avant de réaliser linstallation et le cablage, déconnectez la borne © de la batterie pour
prévenir tout risque de court-circuit.

@ Connectez les cables d'entrée et de sortie de 'appareil. (vx P.14)

@ Connectez le fil de mise & la masse au chéssis métallique du véhicule. (&= P.14)

@ Connectez le fil de maintien de mémoire (Jaune). (== P.14)

® Connectez le cable d'alimentation (Rouge). (v+ P.14)

® Installer I'appareil dans la voiture. (1= P, 15)

@ Reconnecter le cable a la borne négative de la batterie.

|AAPRECAUTION |

¢ Le fusible peut fondre sous 'effet d'un court-circuit qui pourrait engendrer un
incendie. Vérifier tout d’abord s'il y a court-circuit et y remédier si possible. S'iin'y a
pas de court-circuit, remplacer le fusible fondu par un neuf ayant un ampérage
similaire (indiqué sur la boite & fusibles).

e Eviter que les cordons et les connecteurs non branchés n'entrent en contact avec
le chassis actif (masse) de la voiture. Sinon, 'appareil se déréglerait sous 'effet du
bruit ou du courant. Quant aux connecteurs équipés d'un capuchon, ne pas retirer
Cﬁlaui-qi quand ils ne sont pas utilisés afin d'éviter gi'ils n'entrent en contact avec le
chassis.

¢ Cet appareil est pourvu du systéme BTL (sans transformateur équilibré) pour une
plus gf;rande puissance. Dans ce systéme BTL, le regroupement des conducteurs
de différents haut-parleurs provoque une distorsion du son ou une panne de
I'appareil. Ne jamais relier les bornes de sortie de haut-parleurs les unes avec les
autres, ni connecter ces bornes au chassis de [a voiture.

Installation 13




RACCORDEMENTS

o

* Les numéros encerclés sur le dessin
correspondent aux numéros de la procédure
énumérés a la page 13.

@ =& B———} Entrée de 'antenne FM/AM

/DelantenneFM/AM A

@ Assurer I'alimentation principale et de la
mémoire par I'intermédiaire de la boite & fusibles
de la voiture pour éviter que le contact éventuel
entre e cordon d'alimentation (rouge)/le cordon
d'alimentation de secours de la mémoire (jaune)
et le chassis ne provoque un incendie.

KRC-140
Céable de connexion
d'alimentation

"I-Ul“ ®-» ACC "~ o]

Cable d'alimentation
(Rouge) @ (Vers allumage)

JUL’ @=p P

Fil de maintien de mémoire Boite de fusible [] Boite de

v ) fusible
(Jaune) @ (Vers batterie) (Fusible

principal)

Cable de mise & la masse (Noir) @ (Vers le chassis
de la voiture)

Batterie

Fil d'arrivée de contrdle de puissance (Bleu/Blanc)
{Fil de contrdle de I'antenne électrique entierement)

POWER CONT

(Blanc)
f__=> @@ Enceinte avant

gauche

—>@® Enceinte arrigre
gauche
(Noir} |I: ®0

(Cris)
/—‘:D ®® Encelinte avant

droite

= >@® Encelnte arriére

droite

(Violet)

{Noir)

@O

14 )nstallation




INSTALLATION

Cloison ou support métallique ® Insérez 'appareil dans le manchon de
fixation. Il se bloguera en position.

Ecrou a téte a six pans
(Mb) (Accessoire)

Vis TP (M4 X 6)
(Accessoire)

m'. @ Fixez le manchon au chassis 4 l'aide
: de pattes de fixation. Recourbez les
g pattes a l'aide d'un tournevis.
Plaquette de montage Manchon»de montage
{Accessoire) (Accessoire)

Boulon & téte & six pans
(M5 X 20) (Accessoire)

M Lors de l'installation sur une voiture japonaise, on peut installer en utilisant les Vis de
machine (M5 X 8) et les trous @ indiqués ci-dessous.

KRC-140

N4

Trous pour l'installation sur une voiture japonaise

Installation 15




INSTALLATION

B Dépose de I'appareil KRC-140

Vis TP (M4 X 6)
(Accessoire)
1. Enlever les vis TP (M4X6) retenant
le panneau arriere du KRC-140. .
introduisez ensuite le collier de
retrait dans le trou.

Collier de retrait

(Accessoire) \

2. Introduire les doigts dans le collier
de retrait et tirer simultanément.

v N ., p—
3. Pour libérer le collier de retrait,
utilisez une tournevis pour appuyer Tournevis { -)
sur les languettes situés sur les
cbtés du chéssis et tirez sur le
collier de retrait.
Languette de
dépose
w o

16 Installation




GUIDE DE DEPISTAGE DES ANOMALIES

Un mauvais fonctionnement est souvent provoqué par une simple erreur de
manipulation ou de raccordement. Si un probléme se produit, vérifier les points
suivants avant de faire appel & un spécialiste.

tournée d'un coté.

Symptéme Cause Reméde
Pas de son sur un La commande de balance/ Ajuster la commande de
canal padden est complétement balance/padden.

Réception médiocre

L’'antenne n'est pas sortie.

Sortie 'antenne.

La tonalité est
médiocre.

La bande grince.

La téte est souillée.

Netioyez la téte.

17

¥

B l b




SPECIFICATIONS

Ces spécifications peuvent étre modifiées sans avis préalable.

Section tuner FM

Gamme de fréquence (écart 200 kHz) ...occoovviieiiiiccieece, 87,9 MHz ~ 107,9 MHz

(écart 50 KMz) .oooeviiie e 87,5 MHz ~ 108,0 MHz
SensibDilite ULIE ..o 12,0 dBf (1,1 pV/75 ohms)
Seuil de sensibilité A 50 dB ........ccooiriiiieie e 15,2 dBf (1,6 pV/75 ohms)
Réponse en fréquence ............ 30 Hz ~ 15 kHz (3 dB}

Rapport signal/bruit .........ccmceviivceicriniineane. e eae bt et b e e s s e etaeenerbaenbenaEreeanes
Sélectivité ....coeiiviiiini
Taux de captage ..................
Taux de répoNSE IMAGE ..iivreiie it ciecn e sr s sa e e avn e
TauX de rEPONSE Fl cviiiiiiiriii i etee et st
Séparation SIEré0 (1 KHZ) ..ccciiiiiiii e
Section Tuner AM
Gamme de fréquence (écart T0KHZ) .......c.oeeiiiviieiieice s 530 kHz ~ 1.700 kHz
(€cart G KHZ) v i 531 kHz ~ 1.611 kHz
SeNSIDIlITE UL ....ocoeveiiieee e e 28 dB (30 nv)
Section Magnétocassette
Vitesse de défilement de 12 Bande ........ccceiiiiieccnim i e 4,76 cm/sec
Pleurage et scintillement ...........cc.cccoeeeo ettt e ra et 0,12% (Weff)
Durée de bobinage rapicde (C-60) ............... PO PP PP U URPPPPRURRORUPON 100 sec
Réponse en frEQUBNRCE . .iviciiiiiiieei it ees e nreesasneseans 30 Hz ~ 14 kHz (+3 dB)
Séparation stéréo (1 kKHz) ....cevvriiiivieeen, 43 dB
Rapport Signal/Druit ...c.cooiio e bbb s 54 dB
Section audio
PUISSaNce de SOrie MEXI. ..o veerrieiiiiereitiieseeeie et e ete e e siaeeeaseaenseans 2B5Wx20u15Wx 4
Puissance de sortie (10% THD, 1 kHz, 4 0hMS) ........ovveeviiiiiiien s 20Wx2
(1% THD, 30 Hz ~ 20 kHz, 4 0hmS) c.covvvvveeniiiiiiiic e 15Wx2
Réglage de tonalité ..........ccocvieiieciiniie e Graves: 100 Hz+10dB
Aigus: 10 kHz £10 dB
Généralités
Tension de fonctionnement ..o v 14,4V (11 ~ 16 V permissible)
Consommation d’8lectriCité ..........oeeevvriviemsirieesees e 6,0 A a la puissance nominale
Taille de INStallation ...........c.viriecii e e 180 x 50 x154 mm
(7-1/16 x 1-15/16 x 6-1/16 in.)
PoIdS . ovvennre e et ea e et eetaete e ernneanianenrneas 3,31b (1,5kg)
18
i =->i_ — i.



